1. KaneHgapHbIv y4eOHbIV rpaduK
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2. CBOAHbIE AaHHbIE
Kypc 1 Kypc 2 Kypc 3 Kypc 4
Wtoro
ceM. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2 | Bcero
TeopeTuyeckoe obyuyeHune 19 |182/6|37 2/6| 18 2/6| 18 2/6 (36 4/6| 18 2/6| 18 3/6|36 5/6( 15 4/6 | 11 4/6 |27 2/6|138 1/6
D |3k3aMeHauunoHHbIe ceccum 2 24/6 |44/6| 24/6 | 24/6 |52/6| 24/6 | 24/6 | 52/6| 12/6 2 32/6|184/6
Y |YuebHas npakTuka 2 2 2
M [Mpou3BoACTBEHHAS NpaKTUKa 2 | 246 |44a/6| 44/6
I |loc. ak3ameHbl u/unu 3awmTa BKP 4 4 4
K |KaHukynbl 2 8 10 2 8 10 2 75/6 |95/6 2 8 4/6 |10 4/6| 40 3/6
UToro 23 29 52 23 29 52 23 29 52 23 29 52 208
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